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VI Semester B.Com. Examination, September/October 2022
(CBCS Scheme) (F+R) (2016 — 17 and Onwards)
COMMERCE

Paper — 6.6 : Cost Management (Elective Paper - IV)

Time : 3 Hours Max. Marks : 70

Instruction :  Answers should be written completely either in English or in
Kannada.
SECTION - A
TN — R

1. Answer any five sub-questions from the following. Each sub-question carries 2 marks.

O3RRTTTTR 5 ma’r@a{gﬁ@ﬁ GVBOR. )8 ema-a;e; i 2 e08nsd (5%2=10)

a) State the benefits of ABC Costing.

2380Te3F 35500 W, TORD e:szoﬁra@érwm 8PA.

b) Calculate P.V. Ratlo if selllng price per umt is ¥ 20 and variable cost per
unit is ¥ 15.

SRTE3 TT T8 AR T 20 Tomne WIS 33, %,8 o X 15,
SRR oY mé wmwéwm TOBILRCWD.

c) What is value analysis ? e
m’aod B CRES Q0T ? il ‘\

d) What is variance analysis ? / ¥
B, 39,8 DT 0TTED 2

*- ]
e) Mentlon 2 types of material variance. ! Lyah Y
2 BT [ I3 TRTY, L0eIeadR. \;, LD y

f) Whatis a cash budget ? \ ¢ \ ;;;‘_'.f“"’ & o
SN ONBDS, SOFSER? ? &=

g) Give 2 advantages of Budgetary control.
WOOMEIZ, J0I0E, 073 2 T, 03RRI ed.
SECTION - B
NN — W

Answer any three of the following. Each question carries 6 marks.
FIBNT P E38R 3 BInon euZoR. T@ a;s;ﬁ 6 e03Ned (3%x6=18)
2. Briefly explain the limitations of Budgetary control.

JOONTZZ, V0T, 93 é.razsﬁme;a% ﬁoi@mh DWOA.
3. Differentiate between cost control and cost reduction.

13, 20008 £ 0B 03, IR FRODT B2, AB, B3, c8. e
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4. From the following information, calculate :

a) Profit volume Ratio
b) Fixed costs
c) Sales required to earn a profit of ¥ 60,000.

Sales < 1,50,000
Profit ¥ 20,000
Variable cost 60%
33 FPNT TTESOWOT
a) oY Mg, 30T
b) E%d éai
C) ¥ 60,000 w23 TR 33,8 [UNS TRTT FRITTY, FoRZDBOWD.
ASplepiX ¥ 1,50,000
3 % 20,000
WBMIS ﬁai 60%
5. The below information is given for labour force to complete a job in 60 weeks.
Workers Standard Actual
No. of workers | Weekly No. of workers | Weekly
wage rate wage rate
per worker per worker
Skilled 175 600 170 700
Semi-skilled 145 400 130 500
Unskilled 160 300 180 200

The work was completed in 64 weeks. Calculate : Labour cost variance, Labour
efficiency variance and labour rate variance.

60 TOTE, SRRy TPEOFTATRED TROFEON BUNS TRESab), DEBTING.

FOLNFHFD % Y
TRONY | RUEBROT 3 | 3pdnY osl, |=eCneRdTS
%03, | mwssdn TNETIN
T, T FWFT 175 600 170 700
W0-FIPV, T BDFT 145 400 130 500
TP, T 50FF 160 300 180 200

BORDY) 62 TITNYY, T iR, B3 RO TWobeS0T To0FB Y, T I/X,
TOR0FE BT 39,3 Tore To0F 8 T30 &30, F F0ROHBOWO.
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6. Prepare a flexible budget for production of 9000 units @ 90% capacity on the
basis of following information :

Production @ 60% capacity 6000 units

Raw materials @ ¥ 125 per unit

Direct labour @ ¥ 75 per unit

Direct expenses @ ¥ 30 per unit

Factory expenses ¥ 60,000 (20% fixed)
Administrative expenses X 80,000 (50% variable)

39N DBSMPOs 9,000 RIS (Sestmo 90) 2.0 WO 03,0 BeIob)
30oS0A.

SOTTS B,888 60 O WRFF, TS 6000 ChHRREFTIED

3o, WORON, 1Y 363,38 odweREsrt T 125

AT ‘,\“\

Se0 5o00FE 53, B8 oREF T 75 @\:-*'

86T D g T,8 ot T 30 {f ‘

Toamrs FEd T 60,000 (20% AT) i B KE A

SBEZ DL T 80,000 (50% 230) \N _

SECTION-C
RN — 2

Answer any three of the following. Each question carries 14 marks.
SN CIRRTETR 3 @% nen ev3gda. T)8 E';)% it 14 es03nsd (3x14=42)

7. From the following data, prepare the cash budget for the period April, May and
June 2021 :

Month Sales Purchases Wages Sundry expenses
3 ¢ 3T ®

February 1,20,000 80,000 10,000 7,000

March 1,30,000 98,000 12,000 9,000

April 70,000 1,00,000 8,000 5,000

May 1,18,000 1,03,000 10,000 10,000

June 85,000 80,000 8,000 6,000

Further information :

a) Sales 50% realised in the same month and balance in the next month.
b) Suppliers have provided 2 months credit.

c) Wages — 20% paid in arrears in the following month.
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d) Sundry expenses paid in the same month.
e) Income tax paid ¥ 20,000 in the June.
f) Dividend received X 12,000 in June.

B FPNT T0&E00T INTD 6533071(35'53 5(?’13 ), &, 0e TR TR 20213 WO&DQ
30352020 :

Sonsd v ploptt 00D 3RO AT IUnD
9 T 3 R

e),30 1,20,000 80,000 10,000 7,000

W E 1,30,000 98,000 12,000 9,000

D&Y, S 70,000 1,00,000 8,000 5,000

=0¢ 1,18,000 1,03,000 10,000 10,000

TR 85,000 80,000 8,000 6,000

DY Sdod :

a) ai)acaé.acd Ze. 50 INTO SRoets =o3e doned Tone PTIT), WO SonEh
Gilcfevebcpled

b) g, 30000 S0 Sone med BTH DeRTOTT.
c) ﬁ:a@ 20% 230, F00DT Soried Wﬁéﬂo@d’
d) 833 SWFT, ©Te 20 NP9 TWETOINT.
€) Sod é’éﬁ % 20,000 ma‘ SondE) TOWSRTONT.
f) ooz T 12,0003&9{ eI éomfg TBEOTOZT.

8. The budgeted expenses for the production of 10,000 units in a factory are
furnished below :

Per Unit

4

Materials 70
Labour 25 :
Variable expenses (Direct) R

Variable overheads 20

Fixed overheads (X 1,00,000) 10

Selling expenses (20% fixed) 15

Distribution expenses (25% fixed) 20

Administration expenses
(X 50,000 fixed at all levels of production) 5
170

Prepare a flexible budget for production of 6,000, 8000 and 10,000 units.
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10,000 0o evZ IS Tos0r 30308, SRwBImE TET  ©omoRTY
QEBRNT.

Lo ot
T
oM, 1D 70
FFE BRO 25
WBOMST Jeo a”z:?; 5
WTSTOMIEE e WdE 20
o) Boeew F (X 1,00,000) 10
WITE ﬁzy{% (20% Egpd) 15
Mclefon SN0 (25% P&d) 20
Slo o] DNGTAEY
(X 50,000 &R, 8035 evzomsne A TTNG) 5
170

30 wodb b Tesad 6,000, 8,000 Tt 10,000 ChAREFNY CUBTIA FotROR.,

9. A Company manufactures two products X and Y, using common facilities. The
following cost data for a month are presented to you :

Product X Product Y
Units produced 10,000 20,000
Direct labour hours p.u. 20 30
Machine hours p.u. 60 15
Set-up of machines 150 500
Orders 180 240
Maintenance hours 250 100
No. of Inspections 50 25
Machine activity expenses ¥ 3,00,000
Set-up related expenses % 30,000
Expenses related to orders < 40,000
Maintenance expenses X 80,000
Quality control expenses % 75,000

Calculate the overhead per unit absorbed using Activity Based Costing
Approach.
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10.

(O R

RO, RPOYNIIY 0T03REAL TOTICIROT ABR X T Y’ TBFNERY,

Spcplantiial
20030 SONYS WL 31 BYB00833.

Togr X
2V DT 030RE ML 10,000
3e0 ToQ0F 8 NoLINsL (T8 03w n) 20
0308, RO T8 CINVEF T 60
03008, 1 o) TS 150
3T3eBNRD 180
QTFTH NN 250
TODET! BNy TosJ, 50
03008, 71 23e305383E 03D ¥ 3,00,000
m@ﬁeﬁﬁ TOWORAT DWFNE ¥ 30,000
STIEBNON BOWORAT DWOFNEL T 40,000
ATWF2RONF0I DBOF N0 ¥ 80,000
rEassdEs VEFF T DRoFNEd ¥ 75,000

e Y
20,000
30

15

500

240

100

25

T, 0edETS Hoeed DWFNF 23830Re88 SHOZ SBF NHITZIY evBodeend

FOBI&LEBOWD.

The standard mix to produce one unit of product is as follows :

Material X 600 Units @ X 15 p.u. =

Material Y 800 Units @ ¥ 20 p.u. =

Material Z 1000 Units @ X 25 p.u. =
2,400 Units

9,000
16,000
25,000
50,000

During the month of June 10 units were actually produced and consumption

was as follows :
Material X 6400 Units @ T 17.50 p.u.
Material Y 9500 Units @ ¥ 18.00 p.u.
Material Z 8700 Units @ X 27.50 p.u.
24,600 Units

Calculate Material Variances.

il

1,12,000
1,71,000
2,39,250
5,22,250



AL

PUBFHT 20T CIRVEFR), YVTI DI O 03,603 8% FPNT0STIT.

.

7

=R X 600 ceRE N 28,8 oedEsFn T15 Jo3 = 9,000

PR Y 800 cRAEFNLL )8 ceeFiT 20 o83 = 16,000

TR Z 1000 conpderned &,8 odedex*niT 25 god = 25,000
2,400 conRdEsned 50,000
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wRT Sone 10 CIRE NI, o TmoNn eV LR TROBD TOBY WHFOINT SRONY

QART &eNTI.

=3 X 6400 oL N T8 cwedw't ¥17.50 go3 = 1,12,000
=Y 9500 oRAE NI T)é o1 T18.00 Bod = 1,71,000
w®x Z 8700 odopdE s B,& ot 327.50 tod = 2,39,250

24,600 ooz nsd
PR, WA T,T)AINIS), S8 To80.

5,22,250

The Budgeted Overhead and Cost Driver volumes of universal Ltd are as follows :

Cost Pool Budgeted overhead Cost Driver Budgeted Volume
% £
Material Procurement  4,00,000 No. of orders 800
Machine set-up 2,80,000 No. of set-ups 700
Maintenance 1,80,000 Maintenance Hours 2500
Quality control 1,25,000 No. of Inspections 625
Machinery 3,75,000 No. of machine hours 25,000

The company has produced a batch of 2500 components of ‘Z’. Its material
cost was X 2,40,000 and Labour cost was ¥ 3,20,000. The usage of activities

of this batch are as follows :

Material orders 25
Set-up of machines 30
Maintenance hours 500
No. of Inspections 40
Machine hours 2500

Calculate the Cost Driver rates that are used for computing the appropriate
amount of overhead to this batch and ascertain the cost of the batch of the
component using the Activity Based Costing.
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CHRI[RE S OLIES 90TTOT BRBONTVE =oee ﬁzaé W0B) WU TOTIED B3
3s80B08T.

e Xort, r LBOTRR BRTBERT VU WWOT OO WRBERE
Soeeo Rl HO=eed
X T
MozdN, DD 4,00,000 STIEBNT B02J, 800
03003, T Edai 2,80,000 m@aﬁa”ﬁ@ Ross; 700
Eodr-'&m:éb% 1,80,000 QTFTER noEdnsd 2500
ROE9EE3 VEFF oD 1,25,000 TVOLET: BNy Xoss, 625
0303, e 3,75,000 03508, 1Y FoO 25,000

BOBRCD 2,070 BT/HODE), 2,050 FoBT 2500 eonneds ‘Z’ Toge SCIR0AT. BTT
TN, TS 3T 2,40,000 33 809 e X 3,20,000. cvcdeensivs, 3o
DT 3 FPFOBOSI.

T

RN eTeBned 25 A R TET
03008, T 30 o . iz
BB notdngd 500 | 22 /; 3/
soaegny 2o, 40 L s 4

k“jif).;‘_- — ___ﬁ_,,k-';;- (;, x
0308, eVTO3REN FoO 2500 s |

33 JoBE RRFTT e aizgdd oI, Q3T BRBELD GUTO3RENITOT B, 15T
TOBIY, BOBOLBOWD B 2WeDTES S0 DF DFOR0T B3 0BT TTRFF
o330S ﬁzsuasagt FOROLROWD.




